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General Instructions:

1 There are 34 questions in the question paper.

2. All questions are compulsory

3. Question nos. 1 to 20 carrying 1 mark each.

4 Question nos. 21-24 are short answer type—| questions
carrying 3 marks each.

5. Question nos. 25-30 are short answer type—Il questions carrying 4

marks each.
6. Questionnos.31-34 are long answer type questions carrying 6 marks each.
7. There is no overall choice. However, an internal choice has been

provided in 2 questions of three marks, 2 questions of four marks
and 2 questions of six marks.
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Which of the following is not a feature of functional structure?
(a) It promotes functional specialisation

(b) Managerial development is difficult

(c) It is easy to fix responsibility for the performance
(

d) It is an economical structure to maintain
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‘Ladli’ scheme started by the government of India is a part of

a) Economic Environment

b) Political Environment.

¢) Social Environment

d) Technological Environment
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Lakshay has been given the task of arranging for five-day conference for foreign delegates. In
order to ensure smooth functioning of the event, he has made two people as co-ordinators
to take care of activities related to registration and refreshment. Identify the function of
management being carried out by Lakshay.
(a) Planning
(b) Staffing
(c) Organising
(d) Directing
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Identify the dimensions of the business environment illustrated by the picture given above.
a. Legal

b. Technological

¢. Economic

d. Social
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Keeping in view the changes in the consumer demands and preferences ‘Tasitemaker Bakery’
has reduced the sugar and fat content in its products. This approach of business shows that
management is

(a) An intangible force

(b) A group activity

(c) A dynamic function

(d) A multidimensional activity
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According to the United Nations Environmental Agency, the world produces around 300
million tons of plastic each year, half of which constitutes single-use items. Ford is recycling
over one billion plastic bottles every year to develop elements of the car’s interior, reducing
the amount of plastic ending up in a landfill. The American car maker has revealed that their
Romanian-built EcoSport SUVs’ carpets are made using 470 recycled single-use plastic
bottles. The process for making Ford EcoSport carpets involves shredding bottles and their
caps into tiny flakes and then heating them to 260° C. Identify the related dimension of
business environment.

(a) Economic dimension

(b) Social dimension

(c) Technological dimension

(d) Political dimension
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The Government of India launched “Make in India” initiative in September, 2014 to increase
foreign direct investment (FDI) in 25 sectors. As of April, 2015, FDI inflow in India increased




by 48% since the launch of “Make in India” initiative.

Identify the concept being described in the above lines, with regard to inflow of FDI.
(a) Demonetisation

(b) Privatisation

(c) Liberalisation

(d) Globalisation
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Which of the following statements is not relevant to the concept of “Management as an
inexact science”?
(a) The principles of management lack universal validity
(b) The principles of management lack universal applicability
(c) The principles of management have to be modified according to the given situation
(d) Management involves dealing with human behaviour and outcomes cannot be predicted
with utmost accuracy
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Om Prakash has set up a small business unit for the manufacturing of detergent. In order to
market the detergent in the local residential areas, he has appointed a team of ten salesmen.
Each salesman is expected to sell at least 200 units of the detergent within a week’s time.
Identify the point of importance of controlling being highlighted in the above case.
(a) Controlling helps in judging accuracy of standards.
(b) It ensures efficient use of resources.
(c) It helps in improving employee motivation.
(d) It facilitates co-ordination in action.
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Which of the following statements does not highlight the relationship between planning and




controlling?

(a) Planning and controlling are separable twins of management.

(b) Planning without controlling is meaningless, controlling without planning is blind.
(c) Planning is prescriptive, controlling is evaluative.

(d) Planning and controlling are interrelated and interdependent.
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Statement-1 Decentralisation is much more than mere transfer of authority to the lower
levels of management hierarchy.

Statement-1l Complete centralisation would imply power of concentration of all decision
making authority at the apex of the management hierarchy.

Choose the correct option from the options given below:

a. Statement | is true and Il is false

b. Statement Il is true and | is false

c. Both the statements are true

d. Both the statements are false
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Statement-l Promotional methods include advertising, personal selling, public relations, and
sales promotion.

Statement-Il Branding is a name, term, sign, design, or some combination of the above used
to identify and differentiate the seller's products from those of competitors.

Choose the correct option from the options given below:

a. Statement | is true and Il is false

b. Statement Il is true and | is false

c. Both the statements are true

d. Both the statements are false

13.

qi werar Piad - | D1 [Af= Tl &l Hia- 1| H I Gafdd fqavull & 1 gaferd s




PHIcH - | PHIcH- 1|
a |=regmrfag i | =TaarEE wiatateEy =
& TorT s T a9
b | T yeye li | o= i =de e 3o
c | HUal stferaasheor lii | Forfer were qe 3eew
d | derfers Mg Ao | v | OGSt aste i

(a) (i), (iii), (i), (iv)

(b) (i), (iii), (ii) ,(iv)

(c) (i), (i), (ii), (iv)

(d) (i), (i), (iii), (iv)

Match the various terms of Financial Management Column - | with their respective
Statements in Column-Il

Column - | Column -1l
a Business finance i money required to carry out
business activities
b Financial Management li procurement and usage of finance
Wealth maximization lii Financial management main aim
d Long term investment Iv capital budgeting decisions
decisions

(a) (ii), (iii), (i), (iv)
(b) (i), (i), (ii) ,(iv)
(c) (i), (i), (i), (iv)
(d) (), (i), (i), (iv)
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It is essentially the preparation of a financial blueprint of an organisation’s future operations.
Identify the related concept.

(a) Financial management

(b) Financial planning

(c) Capital budgeting decisions

(d) Dividend decision
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Guneet went to a shop and expressed her desire to buy a copper water bottle only of
Prestige company. Identify the component related to branding being described in the above
case.

(a) Trademark

(b) Generic name

(c) Brand name

(d) Brand mark
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It is @ market for short-term funds that deals in monetary assets whose period of maturity is
up to one year.

(a) Primary market
(b) Secondary market
(c) Capital market

(d) Money market
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Agile Limited has launched a new range of air conditioners in order to add value to the
usability of the product. The new range of air conditioners have an inbuilt air purifier and are
available in attractive colours. Identify the type of marketing philosophy being described in
the above lines.




(a) Product concept

(b) Production concept

(c) Marketing concept

(d) Societal marketing concept
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Sugandha purchased a pack of crayons for her daughter from a nearby stationery shop. She
noticed that the crayons were packed in a portable transparent plastic bag. Identify the level
of packaging being described in the above lines.

(a) Primary package

(b) Secondary packaging

(c) Transportation packaging

(d) all of the above
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Madhubala is planning to launch an online education portal. In order to understand the
varied needs of the students, she conducted an online survey. Based on the feedback of the
survey, she has decided to offer educational packages to the prospective buyers. Identify the
type of marketing concept being described in the given lines.

(a) Product concept

(b) Production concept

(c) Marketing concept

(d) Societal marketing concept

20.

Frarferfera o 73 SUBYT (1) =i F10r (31

= e U foreedt & & @t faeed 4.

B (T): Ui BT IUTNT Ufsfed a1 8, T8 9 AT I, A HHM aral a1 7R-
AHHRY Tt TTe R A g 8 |

PR (3R): TS BT ST T G Tl ol Yhdl §, Had WS b H1Y B &b aid 9 39
gy fhar o g g |

IEETGE

<~




U) DY () 3T FTC0T (ATT) TAT T & 3T FHT07 (3A17) SUDBYU (T) F7 H2T w8170 2
1) eérf\%w (T) 3 HTTT (3ATT) AT & 2 ST F10r (3717) STHBY (U) F7 Yol WSIDHR]
Tel

) SMfUFHY (T) T § Afch HRUT (3R) 7Td &

) fHBHYT (V) Teld § Afded RN (IR) T §

Read the following statements: Assertion (A) and Reason(R).

Choose the correct alternative from those given below:

ASSERTION (A): The use of management is not restricted, it is applicable in all organisations
big or small, profit or non-profit making.

REASONING (R): Management cannot be seen or touched only it can be felt in the way the
organisation functions.

Alternatives:

a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of
Assertion (A)

c) Assertion (A) is true but Reason (R) is False

d) Assertion (A) is False but Reason (R) is True
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Ashita and Lakshita are employees working in Dazzling enterprises dealing in costume
jewellery. The firm secured an urgent order for 1,000 bracelets that were to be delivered
within 4 days. They were assigned the responsibility of producing 500 bracelets each at a cost
of Rs 100 per bracelet. Ashita was able to produce the required number within the stipulated
time at the cost of Rs 55,000 whereas, Lakshita was able to produce only 450 units at a cost
of Rs 90 per unit. State whether Ashita and Lakshita are efficient and effective. Give reasons
to justify your answer.
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Kalu Consultants has launched www.naukaripao.com exclusively for senior management
professionals. The portal lists out senior-level jobs and ensures that the job is genuine
through the rigorous screening process.

a. State the source of recruitment highlighted in the case above.




b. State two benefits of the above-identified source of recruitment.
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'Planning is looking ahead and controlling is looking back'. Comment.
OR
'An effort to control everything may end up in controlling nothing'. Explain.
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What are the main objectives of financial management? Briefly explain.
OR
How does working capital affect both the liquidity as well as the profitability of a business?
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No organisation can be successful unless it fills and keeps the various positions filled with
the right kind of people for the right job. Explain.
OR
Why are internal sources of recruitment considered to be more economical?
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Explain any four principles of Directing.
OR

Explain the process of motivation with the help of a diagram.
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A company wants to modify its existing product in the market due to decreasing sales. You
can imagine any product about which you are familiar. What decisions/steps should top
level of management take to give effect to this decision?
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State any four factors that the finance manager of the company should keep in mind while
arranging its fixed capital.
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Sunrises Ltd., dealing in readymade garments, is planning to expand its business operations
in order to cater to the international market. For this purpose, the company needs an
additional 80,00,000 to replace machines with modern machinery of higher production
capacity. The company wishes to raise the required funds by issuing debentures. The debt
can be issued at an estimated cost of 10%. The EBIT for the previous year of the company
was 8,00,000, and the total capital investment was 1,00,00,000. Suggest whether the issue
of debenture would be considered a rational decision by the company. Give reasons to
justify your answer.
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Mrs. Mathur sent a jacket to a laundry shop in January 2018. The jacket was purchased at a
price of 4,500. She had previously sent the jacket for dry cleaning with Shine Dry Cleaners
and the jacket was cleaned well. However, she noticed that her jacket had white
discolouration marks when she collected the jacket this time. On informing the dry cleaner,
Mrs. Mathur received a letter confirming that discolouration indeed appeared after the
jacket was dry cleaned. She contacted the dry cleaner multiple times and requested for
compensation for a discoloured jacket but to no avail. Upon Consumer court’s intervention,
Shine Dry Cleaners agreed to compensate 2,500 to Mrs. Mathur for the discoloured jacket.

a. Which right was exercised by Mrs. Mathur at the first instance?
b. Name and explain the right which helped Mrs. Mathur to avail the compensation.

c. State which consumer responsibility has been fulfilled by Mrs. Mathur in the above case.
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Define Scientific Management. State any three of its principles.

OR

Explain any four points regarding significance of Principles of Management.
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After the following logical steps in the process of planning, explain the steps required to
complete the process:

(i) Setting objectives

(i) Developing premises, and

(iii) Identifying alternative courses of action.

OR

Explain ‘any four types of plan.
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Vinod, the Human Resource Manager, Umesh, the Assistant Manager, and Ashok, the
Marketing Head, all decided to leave Hitashi Enterprises Ltd. The CEO asked Vinod to fill the
vacancies before departing. Vinod recommended his capable and trustworthy subordinate,
Rajesh, for a promotion. The CEO agreed, and Rajesh reached out to 'Zenith Recruiters' to
advertise the Marketing Head position. A suitable candidate was recruited through the
process. For Umesh's vacancy, they screened unsolicited applications in the office's database,
successfully filling the positions before the departures.

() What are the internal and external sources of recruitment that 'Hitashi Enterprises Ltd.'
utilized to fill the mentioned vacancies?

(b) Also, state any one merit of each of the above-identified sources of recruitment.

34.

YT ] Ueb TTATYd HUT, O [ITHe S g1 [Hd ol & AU Gal &cl U & U Il Il




g3 el 98 39 g MaR & U aray s, For U Wiial a1 o1, for- 39 U8 dl
Hg R BHid B B Y far| 9 3T IR YT fIwd 81 77T, Y 98 Iolg o & forg
TS IUHGT HRAGA! THE & U T3 | THE = T B Hag HR- 3R a2y s & HH &
IATGI D1 faeh! TR ufdael T & U B 3R AEH| A U= &b IdTa) Bl Wil o
URESl B BT 3T B & (Ui foran | wike farfies 3 aoiR # oo+t sfa @t &Y digen 3
SO B TS g5 BIA AT A BT FoTHER HoR BI 4.

1. [AUUH USY= Bt TR B UgaT Sl Ueitish P! BH ol IURIGd e T dTeR (HapTem
T gag Sl

2. f=51 IR gl &1 IdTd §U IWRIG UgaH! T8 AR Bt YHHT off TF B |

Radha found a worm crawling out of newly opened tetra pack of juice manufactured by a
reputed company, Zest Ltd. She went back to the shopkeeper from whom the pack was
purchased who directed her to call up the customer care centre. When all her efforts fell
free, she went to a consumer activist, group to seek advice. The group decided to help Radha
and take measures to impose restrictions on the sales of the firm’s products of the particular
batch and urge customers to refrain from buying the products of the company. Zest Ltd. lost
its image in the market. The CEO gave the responsibility of bringing back the lost image of the
company to the Manager.

1. ldentify the concept of marketing management which will help the Manager to get
the firm out of the above crisis.
2. Also explain the role of above identified concept by stating any four points.




